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	Řešení originálů z ŠU 12/2019
95 L.Makaronez
1.h4 hr. 2.Ve4+, 1…d6 2.Dc4+, 1…d5 2.d4, 1…Ve8 2.Ve7

(4x1 = 4 body) 
96 S.Trommler + M.Barth
1.Jf7

1…axb1J 2.e8D+ Kh7 3.Dh8+ Kg6 4.Dh6+ Kf5 5.Dg5+ Ke4 6.Jd2+ Jxd2X

1…axb1S 2.e8V+ Kh7 3.Vh8+ Kg6 4.Vh6+ Kf5 5.Jfd6+ Kg5 6.Vxc5+ Sf5X

 (2x3 = 6 bodů)
97 S.Juříček
1.Kd4 Kxf4 2.d5 Je2X
1.Se7 Vc5+ 2.Kd6 Je4X

1.Kd6 Ke4 2.Je6 Jf5X
(3x0,66 = 2 body)

98 A.Fica
A: 1.f4 exd5 2.Kf5 Sxf4 3.Jg4 Sc1 4.Df6+ d4X
B: 1.Sxa2 Sc5 2.Kf4 Kb2 3.Ke5 d4+ 4.Kd5 Sxa2X

C: 1.Vf3 Sf4 2.Jf1 Sd3 3.Vh4 exf3+ 4.Kh3 Sxf1X

D: 1.Vf4 Sd2 2.V1f3 Sxe4 3.Vh3 Sf3+ 4.Kg3 Se1X

(4x2 = 8 bodů)
Problémy žádné. 30 řešitelů jako o měsíc dříve, dvanáct vítězů jako o měsíc dříve. Gratulujeme!
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